

Section 2.1

$$(2) \quad T: \mathbb{R}^3 \rightarrow \mathbb{R}^2, \quad T(a_1, a_2, a_3) = (a_1 - a_2, 2a_3)$$

• T is linear:

$$\begin{aligned} - \quad T((a_1, a_2, a_3) + (b_1, b_2, b_3)) &= T((a_1 + b_1, a_2 + b_2, a_3 + b_3)) \\ &= ((a_1 + b_1) - (a_2 + b_2), 2(a_3 + b_3)) \\ &= (a_1 - a_2, 2a_3) + (b_1 - b_2, 2b_3) \\ &= T(a_1, a_2, a_3) + T(b_1, b_2, b_3) \end{aligned}$$

$$\begin{aligned} - \quad T(c(a_1, a_2, a_3)) &= T(ca_1, ca_2, ca_3) = (ca_1 - ca_2, 2ca_3) \\ &= c(a_1 - a_2, 2a_3) \\ &= cT(a_1, a_2, a_3) \end{aligned}$$

so T is linear.

• N(T)

By definition,  $(a_1, a_2, a_3) \in N(T) \Leftrightarrow T(a_1, a_2, a_3) = 0$

but  $T(a_1, a_2, a_3) = (a_1 - a_2, 2a_3)$ , so

$$T(a_1, a_2, a_3) = 0 \Leftrightarrow a_1 = a_2, \quad a_3 = 0.$$

So

$$N(T) = \{ (a_1, a_2, a_3) \in \mathbb{R}^3 \mid a_1 = a_2, a_3 = 0 \}$$

$$= \{ (a, a, 0), a \in \mathbb{R} \}$$

$$= \{ a \cdot (1, 1, 0), a \in \mathbb{R} \}$$

Thus

$\{ (1, 1, 0) \}$  is a basis for  $N(T)$ .

• Nullity of T = 1

P20  
4.0.32

• R(T)

$$R(T) = \{ (a_1, -a_2, 2a_3) \mid a_1, a_2, a_3 \in \mathbb{R} \}$$

Note that  $(a_1, -a_2, 2a_3) = a_1(1, 0) + a_2(-1, 0) + a_3(0, 2)$

So  $R(T)$  is generated by  $\{(1, 0), (-1, 0), (0, 2)\}$

and a basis for  $R(T)$  is given by  $\{(1, 0), (0, 2)\}$ .

• Rank(T) = 2

Check: nullity(T) + rank(T) = 1 + 2 = 3 = dim  $\mathbb{R}^3$  ✓

• Since  $N(T) \neq \{0\}$ , T is not one-to-one

$R(T) = \mathbb{R}^3 \Rightarrow T$  is onto



③  $T: \mathbb{R}^2 \rightarrow \mathbb{R}^3$ ,  $T(a_1, a_2) = (a_1 + a_2, 0, 2a_1 - a_2)$

• T is linear - computation just as in ②.

• N(T)  $(a_1, a_2) \in N(T) \Leftrightarrow (a_1 + a_2, 0, 2a_1 - a_2) = 0$

$$\Leftrightarrow \begin{cases} a_1 + a_2 = 0 \\ 2a_1 - a_2 = 0 \end{cases} \Rightarrow \begin{matrix} a_1 = 0, \\ a_2 = 0 \end{matrix}$$

So  $N(T) = \{0\}$ . Basis for  $N(T) = \emptyset$  (empty set)

• nullity of T = 0

• R(T)  $R(T) = \{ (a_1 + a_2, 0, 2a_1 - a_2) \}$

Note that  $(a_1 + a_2, 0, 2a_1 - a_2) = a_1(1, 0, 2) + a_2(1, 0, -1)$

So  $\{(1, 0, 2), (1, 0, -1)\}$  generate  $R(T)$  and are l.i.  $\Rightarrow$  this set is a basis.

• rank  $T = 2$

• nullity  $T + \text{rank } T = 0 + 2 = 2 = \dim \mathbb{R}^2$

• Since  $N(T) = \{0\}$ ,  $T$  is one-to-one

$\dim R(T) = 2 < \dim \mathbb{R}^3$ ,  $T$  is not onto.

④  $T: M_{2 \times 3}(F) \rightarrow M_{2 \times 2}(F)$

$$T \begin{pmatrix} a_{11} & a_{12} & a_{13} \\ a_{21} & a_{22} & a_{23} \end{pmatrix} = \begin{pmatrix} 2a_{11} - a_{12} & a_{13} + 2a_{12} \\ 0 & 0 \end{pmatrix}$$

•  $T$  is linear: check as in ②

•  $N(T)$ :  $T(A) = 0 \iff \begin{cases} 2a_{11} - a_{12} = 0 \\ a_{13} + 2a_{12} = 0 \end{cases} \iff \begin{cases} a_{11} = \frac{a_{12}}{2} \\ a_{13} = -2a_{12} \end{cases}$

So  $A \in N(T)$  has the form  $A = \begin{pmatrix} \frac{a}{2} & a & -2a \\ a_{21} & a_{22} & a_{23} \end{pmatrix}$ ,  $a, a_{21}, a_{22}, a_{23} \in F$ .

We can write  $A = a \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & 0 \end{pmatrix} + a_{21} \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & 0 \end{pmatrix} + a_{22} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix} + a_{23} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix}$

Since  $\left\{ \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix} \right\}$  generate  $N(T)$

and is l.i., it is a basis.

• nullity  $T = 4$

•  $R(T)$ :  $R(T) = \left\{ \begin{pmatrix} 2a_{11} - a_{12} & a_{13} + 2a_{12} \\ 0 & 0 \end{pmatrix} : a_{11}, a_{12}, a_{13} \in \mathbb{R} \right\}$

But 
$$\begin{pmatrix} 2a_{11} - a_{12} & a_{13} + 2a_{12} \\ 0 & 0 \end{pmatrix} = a_{11} \begin{pmatrix} 2 & 0 \\ 0 & 0 \end{pmatrix} + a_{12} \begin{pmatrix} -1 & 2 \\ 0 & 0 \end{pmatrix} + a_{13} \begin{pmatrix} 0 \\ 0 & 0 \end{pmatrix}$$

So  $\left\{ \underbrace{\begin{pmatrix} 2 & 0 \\ 0 & 0 \end{pmatrix}}_{v_1}, \underbrace{\begin{pmatrix} -1 & 2 \\ 0 & 0 \end{pmatrix}}_{v_2}, \underbrace{\begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}}_{v_3} \right\}$  generates  $\mathcal{R}(T)$ , but it's not l.i.

Note that  $v_2 = -\frac{1}{2}v_1 + 2v_3$

Note that  $\left\{ \begin{pmatrix} 2 & 0 \\ 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix} \right\}$  is l.i. and still generates  $\mathcal{R}(T)$ ,  
so it's a basis.

•  $\text{Rank}(T) = 2$

• nullity  $T + \text{rank } T = 4 + 2 = 6 = \dim M_{3 \times 2}(\mathbb{F})$  ✓

• Since  $\mathcal{N}(T) \neq \{0\}$ ,  $T$  is not one-to-one

$\text{rank}(T) = 2 < \dim M_{2 \times 2}(\mathbb{F}) \Rightarrow T$  is not onto



9

(a)  $T: \mathbb{R}^2 \rightarrow \mathbb{R}^2$

$T(a_1, a_2) = (1, a_2)$

Recall that any linear transformation must satisfy  $T(0) = 0$ .

Since  $T(0,0) = (1,0) \neq (0,0)$ ,  $T$  is not linear.

(b) Note that  $T((0,1) + (0,2))$   
 $= T(0,3) = (0,9)$

But  $T(0,1) = (0,1)$ ,  $T(0,2) = (0,4) \therefore T((0,1) + (0,2)) \neq T(0,1) + T(0,2)$   
and  $T$  is not linear.

(10)  $T: \mathbb{R}^2 \rightarrow \mathbb{R}^2$  is linear

$$T(1,0) = (1,4)$$

$$T(1,1) = (2,5)$$

To compute  $T(2,3)$ , note that

$$(2,3) = -(1,0) + 3(1,1)$$

$$\text{so } T(2,3) = T(-(1,0) + 3(1,1))$$

$$= -T(1,0) + 3T(1,1)$$

$$= -(1,4) + 3(2,5)$$

$$= (6,15) - (1,4) = (5,11)$$

Since  $(1,4)$  and  $(2,5)$  are l.i., it follows that  $\text{rank}(T) = 2$ .

By the dimension thm,  $\text{nullity}(T) = 0$  and therefore  $T$  is 1-1.  $\square$

### Section 2.2 :

(2)  $T: \mathbb{R}^n \rightarrow \mathbb{R}^m$   $\beta = \{e_1, \dots, e_n\}$   
 $\gamma = \{e_1, \dots, e_m\}$

(a)  $T: \mathbb{R}^2 \rightarrow \mathbb{R}^3$

$$T(a_1, a_2) = (2a_1 - a_2, 3a_1 + a_2, a_1)$$

$$[T]_{\beta}^{\gamma} = \begin{pmatrix} 2 & -1 \\ 3 & 4 \\ 1 & 0 \end{pmatrix}$$

$$T(1,0) = (2, 3, 1) = 2e_1 + 3e_2 + e_3$$

$$T(0,1) = (-1, 4, 0) = -1e_1 + 4e_2 + 0e_3$$

(c)  $T: \mathbb{R}^3 \rightarrow \mathbb{R}$ ,  $T(a_1, a_2, a_3) = 2a_1 + a_2 - 3a_3$

$$[T]_{\beta}^{\gamma} = (2, 1, -3)$$

③  $T: \mathbb{R}^2 \rightarrow \mathbb{R}^3$

$T(a_1, a_2) = (a_1 - a_2, a_1, 2a_1 + a_2)$

Let  $\beta = \{e_1, e_2\}$ ,

$\gamma = \{(1, 1, 0), (0, 1, 1), (2, 2, 3)\}$

Note that:  $T(e_1) = T(1, 0) = (1, 1, 2) = a(1, 1, 0) + b(0, 1, 1) + c(2, 2, 3)$

solving it for a, b, c, we get  $a = \frac{1}{3}, b = 0, c = \frac{2}{3}$

so  $T(e_1) = \frac{-1}{3}(1, 1, 0) + 0(0, 1, 1) + \frac{2}{3}(2, 2, 3)$

similarly,  $T(e_2) = (-1, 0, 1) = -1(1, 1, 0) + 0(0, 1, 1) + 0(2, 2, 3)$

so  $[T]_{\beta}^{\gamma} = \begin{pmatrix} -\frac{1}{3} & -1 \\ 0 & 1 \\ \frac{2}{3} & 0 \end{pmatrix}$

• If  $\alpha = \{ \underset{\substack{\uparrow \\ v_1}}{(1, 2)}, \underset{\substack{\uparrow \\ v_2}}{(2, 3)} \}$ , then

$T(v_1) = (-1, 1, 4) = \frac{-7}{3}(1, 1, 0) + 2(0, 1, 1) + \frac{2}{3}(2, 2, 3)$

$T(v_2) = (-1, 2, 7) = \frac{-11}{3}(1, 1, 0) + 3(0, 1, 1) + \frac{4}{3}(2, 2, 3)$

so  $[T]_{\alpha}^{\gamma} = \begin{pmatrix} -\frac{7}{3} & -\frac{11}{3} \\ 2 & 3 \\ \frac{2}{3} & \frac{4}{3} \end{pmatrix} //$

④  $T: M_{2,2}(\mathbb{R}) \rightarrow \mathbb{P}_2(\mathbb{R}), T \begin{pmatrix} a & b \\ c & d \end{pmatrix} = (a+b) + (2d)x + bz^2$

let  $\beta = \{ \underset{\substack{\uparrow \\ v_1}}{\begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}}, \underset{\substack{\uparrow \\ v_2}}{\begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}}, \underset{\substack{\uparrow \\ v_3}}{\begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix}}, \underset{\substack{\uparrow \\ v_4}}{\begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}} \}$ ,  $\gamma = \{ \underset{\substack{\uparrow \\ u_1}}{1}, \underset{\substack{\uparrow \\ u_2}}{x}, \underset{\substack{\uparrow \\ u_3}}{x^2} \}$

•  $T(v_1) = 1 = 1 \cdot u_1 + 0 \cdot u_2 + 0 \cdot u_3$

•  $T(v_2) = 1 + x^2 = 1 \cdot u_1 + 0 \cdot u_2 + 1 \cdot u_3$

•  $T(v_3) = 0 = 0 \cdot u_1 + 0 \cdot u_2 + 0 \cdot u_3$

•  $T(v_4) = 2x = 0 \cdot u_1 + 2 \cdot u_2 + 0 \cdot u_3$

$\therefore [T]_{\beta}^{\gamma} = \begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & 0 & 0 & 2 \\ 0 & 1 & 0 & 0 \end{pmatrix} //$

Section 2.3 Let  $g = 3+x$

(3)  $T: P_2(\mathbb{R}) \rightarrow P_2(\mathbb{R})$ ,  $T(f) = f'g + 2f$

$U: P_2(\mathbb{R}) \rightarrow \mathbb{R}^3$ ,  $U(a+bx+cx^2) = (a+b, c, a-b)$

$\beta = \{1, x, x^2\}$

$\gamma = \{e_1, e_2, e_3\}$

(a)  $[U]_{\beta}^{\gamma}$  :  $U(1) = (1, 0, 1) = e_1 + 0e_2 + e_3$   
 $U(x) = (1, 0, -1) = e_1 + 0e_2 - e_3$   
 $U(x^2) = (0, 1, 0) = 0e_1 + e_2 + 0e_3$

$$[U]_{\beta}^{\gamma} = \begin{pmatrix} 1 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & -1 & 0 \end{pmatrix}$$

$[T]_{\beta}$  :  $T(1) = 2 = 2 \cdot 1 + 0 \cdot x + 0 \cdot x^2$

$T(x) = 3+x + 2x = 3+3x = 3 \cdot 1 + 3 \cdot x + 0 \cdot x^2$

$T(x^2) = 2x(3+x) + 2x^2 = 6x + 4x^2 = 0 \cdot 1 + 6 \cdot x + 4 \cdot x^2$

$$[T]_{\beta} = \begin{pmatrix} 2 & 3 & 0 \\ 0 & 3 & 6 \\ 0 & 0 & 4 \end{pmatrix}$$

$UT: P_2(\mathbb{R}) \rightarrow \mathbb{R}^3$ ,  $UT(a+bx+cx^2) = U((b+2cx)(3+x) + 2(a+bx+cx^2))$   
 $= U(3b + (b+6c)x + 2cx^2 + 2a + 2bx + 2cx^2)$   
 $= U((3b+2a) + (3b+6c)x + 4cx^2)$   
 $= (6b+2a+6c, 4c, 2a-6c)$

$[UT]_{\beta}^{\gamma}$  :  $(UT)(1) = (2, 0, 2) = 2e_1 + 0e_2 + 2e_3$   
 $(UT)(x) = (6, 0, 0) = 6e_1 + 0e_2 + 0e_3$   
 $(UT)(x^2) = (6, 4, -6) = 6e_1 + 4e_2 - 6e_3$

so

$$[UT]_{\beta}^{\gamma} = \begin{pmatrix} 2 & 6 & 6 \\ 0 & 0 & 4 \\ 2 & 0 & -6 \end{pmatrix}$$

$$= [U]_{\beta}^{\gamma} [T]_{\beta} //$$

(b)  $h(x) = 3 - 2x + x^2$

$$[h]_{\beta} = (3, -2, 1)$$

$$[Uh]_{\gamma} = [(1, 1, 5)]_{\gamma}$$

$$= (1, 1, 5)$$

Note that

$$[Uh]_{\gamma} = \begin{pmatrix} 1 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & -1 & 0 \end{pmatrix} \begin{pmatrix} 3 \\ -2 \\ 1 \end{pmatrix} = \begin{pmatrix} 1 \\ 1 \\ 5 \end{pmatrix}$$

"                      "

$[U]_{\beta}^{\gamma}$        $[h]_{\beta}$                       ✓

4 (a)  $T: M_{22}(F) \rightarrow M_{22}(F), T(A) = A^t \quad \gamma = \left\{ \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix} \right\}$

$$A = \begin{pmatrix} 1 & 4 \\ -1 & 6 \end{pmatrix}$$

By thm 2.14:  $[TA]_{\alpha} = [T]_{\alpha} [A]_{\beta}$

$$[T]_{\alpha} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}, [A]_{\beta} = \begin{pmatrix} 1 \\ 4 \\ -1 \\ 6 \end{pmatrix} \therefore [TA]_{\alpha} = \begin{pmatrix} 1 \\ -1 \\ 4 \\ 6 \end{pmatrix}$$

(b)  $T: M_{22}(F) \rightarrow F, T(A) = \text{tr}(A), \gamma = \{1\}$  basis for  $F$

$$[T]_{\alpha}^{\beta} = (1, 0, 0, 1), [TA]_{\beta} = [T]_{\alpha}^{\gamma} [A]_{\beta} = (1, 0, 0, 1) \begin{pmatrix} 1 \\ 4 \\ -1 \\ 6 \end{pmatrix} =$$